PART - A

Answer any 5 questions from 1 to 6. Each carries 1 Score. (5x1=5)

I is the character coding system that can represent character from almost all
languages.
(ASCII, ISCII, UNICODE)

2. Which among the following is a CPU register ?
(ROM, RAM, ACCUMULATOR)

3 is a digital connector capable of transmitting high definition video and audio
over a single cable.

(VGA, HDMI, P5/2)
4. Expand IDE.

5.  Select the data type in C++ which uses ‘0’ bytes in memory.

(int, char, void)

6. Pick the odd one out.
(Internet Explorer, Google Chrome, Google)

PART -B
Answer any 9 questions from 7 to 18. Each carries 2 Scores. (9x2=18)

7.  Arrange the following in ascending order :
l:ll:'m! {1010)2! (zu}sv {F]l-ﬁ

8. How is data different from information ?
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PART - A

1 aymat 6 ueowes canaymglol agomelen. 5 apgpomila’ gomoaa)m)e.
1 empod alla.. (5x1=5)

. cenaowisel ale9anol oHEP S0HSFICEIND) GRAMEERSE  (olalwome
§alQom @¥lamm character canoauleui dlailaosm’

(ASCII, ISCII, UNICODE)

2. moey aaosyemidlesmaiad CPU register agmoasmeame)m)a,?
(ROM, RAM, ACCUMULATOR)

3. e8an ewanmlauad aflulewoa)s solewom)e 8en eaemnilud Ayl Muatpinams
6219008 @:¥lamm ufleflgod eemass ayem’ i
(VGA, HDMI, P§/2)

4. IDE w}os afgm Ojalo af)#)m)e.

5. eamololod ‘0’ eesug 2aswauilesyon C++ data typ. fedem?

(int, char, void)

6. caigmicemmailam aameomm)m

(Internet Explorer, Google Chrome, Google)

PART -B
7 a)mad 18 usow)an canasmglol agomelens 9 AFPOTIN DADHOSDE) ).
2 capod aflm.. (9x2=18)

7. @06% OhIS)OTIElanI MUkl |heS BIRERaNET (BHATTINGE af)@)m)d
(11)44, (1010);, (20)g, (F), 6

8.  awoguie malandeantimi medlenss aympaueams ?
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10.

11

12.

13.

14,

15.

17.

18.

A QR code is similar to Barcode but QR code is more advantageous. How ?
There are two popular approaches in problem solving. Describe each.

Explain the insertion and extraction operators in C++.

Sum is a variable with an integer value 25, at the memory location 1005. Give the R-

value and L-value.
Whrite any four C++ statements to increment the value of a variable ‘P* by 1.
What are the ways to add comments in C++ T

Fill in the blanks and complete the statements to find the sum of nnmhers “om 10 to 20.

int i, sum= H
for (i= ; ig= : 144}
{ sum=sum+ 1}

State any four advantages of computer networks.

“As our dependence on the internet increases, We naturally tend to be the victims of

cyber attacks too.” Specify any four threats that affect a computer network.

Name any four [CT enabled services.
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12,

13.

14,

15.

16.

17.

18.

QR code-m" Barcode po @@l muaommadd peseslens QR code ]S
OO |FWMOEM. af)sem ?

Problem solving @ auowosemmoml eee  qudlumangne  soscom)e
aflvodlaal ).

C++ @al insertion, extraction 89qje0goj@eg allvdladlas)e.

Sum agom  variable @ 25 agan integer afler store alimicleamm). Sum
2aioouileanam oazad eeesn-uad 1005 @, golod R-value po L-value go
)9

‘P* apom eaudlosniglen ale 1 aidaulyflemanmes C++ oel moel statement @b
Af)¥)m)edh.

C++ comments caideaymaim)es dolewd .gomonan 7

10 @3 20 USORBB TUoaIL@DS )@ dharain lSlagomyan statement &H@)0S
aflg)en 10w al)dlaflen)e.
int i, sum= F

for (i= ;. i<m : i+4)

{ sum=sum+ il
SMYSA emgruden@@es agemslen. moel eamdud aBe)m)@..

"DRdemglom  epwelanma  aspmoiompuda Mm% eecusud

TRSHATNEMBOS  OMHPIB0.” &0) HMUPSE emgudaesiom snowlancnim
o OmEs1Ele MIET Elntemlad QI maoan)d.

agomlel)s moei ICT enabled mudglou)e.g)es eainow)m)e.



19.

20.

21.

22,

24,

25,

26.

PART -C

Answer any 9 questions from 19 to 30. Each carries 3 Scores. (9x3=27)

Represent the number —16 in all the three integer representation forms using 8 bits.

Pick one from each pair given below that will promote green computing.
(a) Laptops/Desktops

(b) LED Monitor/CRT Monitor

(c) Buy/Repair

(a) What are the reasons behind the popularity of free and open source software ?
(b) How many levels of freedom are stated by the FSF 7

Write an algorithm to accept two numbers and di splay' the biggest among them.

Classify the following into arithmetic, logical and relational operators.
(&&, +.1,<,%1=)

(a) What are tokens in C++ )

(b) Name any four types of tokens.

Consider the following C++ code

float x, y;

x=15/2; y=135/2.0;

(a) What are the values assigned to x andy ?

(b) Differentiate type promotion from type casting.

(a) What are type modifiers 7

(b) Name any four type modifiers in C++.
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19.

20.

21.

22,

23,

24,

25,

26.

PART-C
19 ay@a@s 30 aleow)as cannyemglel ngamelens 9 AP QTHODAY) ).
3 eapod aflm.. (9x3=27)
=16 agom integer maudlem, 8 gl palowouflal apgjo integer (umiailwom
dlalamglens () mos) agye)m)d.

aljaies  aasomidlenm eccoo emondlmicd miampe Wb @muysleuiay
EDEMEININE T OOEITINS)Ha .

(a)  enqjesoqfiaowmissiosoa

(b)  LED 020smig@/CRT eaosmigd

(c) anene/mmosdlawses)s

(a) free, open source cmUOACgOMIVOMR @SB WMTVIBGN GMS)UIMm)en
IV af)HNOOSOWIET ? (2)
(b)  FSF pumilasodlamoma gy eciaio MO TG ? (1)

6mE’ uoiuitd orufledla), @rRaiciod alenw’ display eaigpmes arolenodlme
ng)¥ ).

moer  asosEmidlea)muew  mdomeadls, cepelead,  dleeismal
800600008 @RI Mo Walagjeim)e.
(&&l +l !’ {¢ *0 ! =]

(a) C++m3 6S0996M3 ag)imO®s gy’ ? 1)
(b) ~gomslen. moen mos CSOHDNTNHBINS CrinndIm)] (2)

@6y mudalelalsnmm C++ code wyaulone

float x, y;

x=5/2; y=5/2.0;

(8) xeney el 9smeI@)M allelsud apemmoass ? (1)
(b) Type promotion mys type casting 0o MAZIENSS QUN®IOTU )i 7 (2)
(@) Type modifiers af)amnod agyom ? (1)
(b)  C++ oy moel” type modifiers & caltomw)md. 2)
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27.

28.

29.

30.

3l

Rewrite using switch statement :

if (r==0)
cout<<“pass”;

else if (r==1)
cout<<“fail”;

else

cout<<“Invalid input”;

(a) Name any two communication technologies that use radio-waves. (4}

(b) State any four characteristics of radio waves. 2)

Social media must be handled with care. Give any three best practices to follow while

interacting on social media.

(a) How can a computer be advantageous in the field of education ? (2)

(b) Name any two e-learning web sites. (1
PART-D

Answer any 2 questions from 31 to 33. Each carries 5 Score (2x5=10)

Define the following three terms in programming (a to ¢) :

(a) Translation (1)
(b) Debugging (1)
(c) Documentation (1)
(d) What are the criteria to choose the best algorithm for a problem ? (2)
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27.

28.

29.

30.

3L

Switch statement alc@ouila @agl agyeim)es :
el o ()]
cout<<“pass”;
else if (r==1)
cout<<™fail”;
else

cout<<“Invalid input”;

(a) colewo ool Dalcaouflesmm ~gomEsE)e 0mE @pw allriao
BOBPEMUB ag)$ ). (1)
(b) eoolewd EAINNBBINS AROMERIEN MIET (AICTIBMEUD af) 9)O)B. (2)

GU0aH 06 dloflasmed Ugen YBALETINS NEMHEHIN] 6alGUMEMm)sIE. GIidn|md
dioflooicsd avwadlenemod ancleonss ~gomale am mg ulesond
afE D).

(a) alaypepau caneleIBId HMIRSHNM ABBOMOWEIe (RICWORMELSITM? (2)

(b) ~pomelen omE e-learning aaimi’ HOMUGIGHBINS CalODWITIE.. (1)
PART -D

31 ymal 33 AInowas ¢a 3 iEngElol agpmElels 2 a)gROTKD DOOHBYE IO db.

5 capod aflow. (2x5=10)

gppwodlonmon]  mIMLeas ®oew  edlsemldeam oM assnud
aflvndladlene. (a mmad ¢ o) :

{(a) Translation 1
(b) Debugging (1)
(¢) Documentation (1)

(d) opo®EPs  DOMBATWEBBUD Dalcwouflaoem  80) Mg @ROICWIBIm.
OWMOOTINS) NI 7 (2)
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32

345

(a)
(b)
(c)

(a)

(b)

Define network topology.
Explain any one topology with its advantages.

How are computer networks classified based on geographical area ?

Identify the components of a loop from the following code :
int i=1, J=2;
while (i<=20)
{
cout <<i<<MxT<<egt="
<<i*j<<™\n";
i++;
}

Find the loop variable in the code,

(1)
2)
)

)
(n



32. (a) omgnides’ 65008 ag)mnoms agym ? (1)
() ~pomelen o) @soCqppell mealen) camewd  AEmAIeOBME

allvodlaalen)a. (2)
(c) aouysd amgrudea)seog Geographical area’ WeS ARSITUOIMOTIDE apennm
MOomEB090 ? (2)

33. (@) ooev esospidles)m  code-am adoioyeml  ejaflo ceisaemd
ORI
int i=1, j=2;
while (i<=20)
{
cout <<i<<"x"<<jegN="

<<iwgeWy it

144;
} )
(b) g0 code-@3 pag loop variable agmosi 7 (1)

—



	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

